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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 31 P—08—Social Science
No. of Printed Pages — 7

¬˝flÁ‡Ê∑§Ê ¬⁄UËˇÊÊ, 2015
PRAVESHIKA EXAMINATION, 2015

‚Ê◊ÊÁ¡∑§ ÁflôÊÊŸ
SOCIAL SCIENCE

‚◊ÿ — 3 14  ÉÊá≈U

¬ÍáÊÊZ∑§ — 80

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –
All the questions are compulsory.

3. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book
only.

4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –
For questions having more than one part the answers to those
parts are to be written together in continuity.

5. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬Ê¢Ã⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •¢Ã⁄U / Áfl⁄UÊœÊ÷Ê‚
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê „UË ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi
version should be treated valid.
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6. ¬˝‡Ÿ ‚¢ÅÿÊ •¢∑§ ¬˝àÿ∑§ ¬˝‡Ÿ ©UûÊ⁄U ∑§Ë ‡ÊéŒ ‚Ë◊Ê
1 – 6 1 20 ‡ÊéŒ
7 – 13 2 40 ‡ÊéŒ
14 – 23 3 100 ‡ÊéŒ
24 – 30 4 150 ‡ÊéŒ
Q. Nos. Marks per question Word limit of answer

1 – 6 1 20 words

7 – 13 2 40 words

14 – 23 3 100 words

24 – 30 4 150 words

7. ¬˝‡Ÿ ‚¢ÅÿÊ 31 ◊ÊŸÁøòÊ ∑§Êÿ¸ ‚ ‚¢’¢ÁœÃ „ÒU •ÊÒ⁄U 5 •¢∑§ ∑§Ê „ÒU –
Question No. 31 is related to map-work carrying 5 marks.

8. ¬˝‡Ÿ ‚¢ÅÿÊ 15 ‚ 17 ◊¥ ‚ Á∑§ã„UË¥ ŒÊ ∑§Ê ©UûÊ⁄U ∑§⁄UŸÊ „ÒU – ¬˝‡Ÿ ‚¢ÅÿÊ 24 ‚ 27

•ÊÒ⁄U 29 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
Two questions are to be answered from Q. Nos. 15 to 17. There

are internal choices in Q. Nos. 24 to 27 and 29.

1. 1929  ◊¥ ∑§Ê°ª˝‚ ∑§ ‹Ê„UÊÒ⁄U •Áœfl‡ÊŸ ∑§ •äÿˇÊ ∑§ÊÒŸ Õ ?

Who was the President of Lahore session of the Congress in 1929. 1

2. ∑§ÊÒŸ-‚Ë ‡ÊÊ‚Ÿ √ÿflSÕÊ •¬ŸË ∑È§¿U ∑§Á◊ÿÊ¥ ∑§ ’Êfl¡ÍŒ ¬Í⁄U Áfl‡fl ◊¥ SflË∑§Êÿ¸ „ÒU ?

Which form of government is accepted throughout the world despite
of some shortcomings ? 1

3. ¬˝ÊÕÁ◊∑§ ˇÊòÊ Á∑§‚ ∑§„UÃ „Ò¥U ?

What is primary sector ? 1

4. ’Ò¥∑§ ø∑§ ÄÿÊ „ÒU ?

What is Bank Cheque ? 1

5. flÒ‡flË∑§⁄UáÊ ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ?

What is meant by globalisation ? 1
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6. •ÁãÃ◊ flSÃÈ∞° ∑§ÊÒŸ-‚Ë „UÊÃË „Ò¥ ?

Which are final goods ? 1

7. •ãÃ⁄UÊc≈˛UËÿ ‚¢‚ÊœŸÊ¥ ∑§Ê •Á÷¬˝Êÿ S¬c≈U ∑§ËÁ¡∞ –

Clarify the meaning of international resources. 2

8. ◊L§SÕ‹Ëÿ ◊ÎŒÊ ∑§Ë ∑§Êß¸ ŒÊ Áfl‡Ê·ÃÊ∞° Á‹Áπ∞ –

Write any two features of Arid soil. 1 + 1 = 2

9. flŸÊ¥ ∞fl¢ flãÿ ¡ËflŸ ∑§Ê ‚¢⁄UˇÊáÊ ÄÿÊ¥ •Êfl‡ÿ∑§ „ÒU ?

Why is conservation of forest & wildlife necessary ? 2

10. •Ê¬∑§ ◊ÃÊŸÈ‚Ê⁄U “’Ê°œ” ∑Ò§‚ ©U¬ÿÊªË „ÒU ?

In your opinion how is 'Dam' useful ? 2

11. ª„Í°U ∑§Ë πÃË ∑§ Á‹ÿ ÷ÊÒªÊÁ‹∑§ ¬Á⁄UÁSÕÁÃÿÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

Describe the geographical conditions for wheat farming. 2

12. Á∑§Ÿ ŒÊ ¬˝◊Èπ ÷ÍªÁ÷¸∑§ ÿÈªÊ¥ ∑§Ë ‡ÊÒ‹Ê¥ ‚ ∑§Êÿ‹Ê ¬ÊÿÊ ¡ÊÃÊ „ÒU ? ŸÊ◊ ’ÃÊß∞ –

Name the two rock series of two main geological ages in which coal

occurs. 1 + 1 = 2

13. ““÷Ê⁄UÃ ◊¥ ‹ÊÒ„U ßS¬ÊÃ ©UlÊª ∑§Ê ¬ÍáÊ¸ Áfl∑§Ê‚ Ÿ„UË¥ „UÊ ‚∑§Ê –”” ß‚∑§ ∑§Êß¸ ŒÊ ∑§Ê⁄UáÊ
Á‹Áπ∞ – 

"Iron and Steel industry could not develop fully in India." Give any two

reasons for this. 1 + 1 = 2

14. 1907 ◊¥ ªÊ°œË¡Ë mÊ⁄UÊ ⁄UÁøÃ ¬ÈSÃ∑§ ∑§Ê ŸÊ◊ ’ÃÊßÿ – ©Uã„UÊ¥Ÿ SflÃãòÊÃÊ ¬˝ÊÁ# „UÃÈ •¢ª˝¡Ê¥ ∑§
ÁflL§h •‚„UÿÊª ∑§Ë ŸËÁÃ ÄÿÊ¥ •¬ŸÊß¸ ? 

Name the book written by Gandhiji in 1907. Why did he adopt the

policy of Non-cooperation against the British to achieve

independence ? 1 + 2 = 3



4

P—08—Soc. Sc.  P–10004 

‚ÍøŸÊ —   ¬˝‡Ÿ ‚¢ÅÿÊ 15  ‚ 17  ◊¥ ‚ Á∑§ã„UË¥ ŒÊ ¬˝‡ŸÊ¥ ∑§ ©UûÊ⁄U ŒËÁ¡ÿ – 

Note : Attempt any two questions from Q. Nos. 15 to 17.

15. ¬˝Õ◊ Áfl‡flÿÈh Á∑§Ÿ ŒÊ ÿÍ⁄UÊ¬Ëÿ ÃÊ∑§Ãfl⁄U π◊Ê¥ ∑§ ’Ëø ‹«∏UÊ ªÿÊ ? “ÿ„U ¬„U‹Ê •ÊœÈÁŸ∑§
•ÊÒlÊÁª∑§ ÿÈh ÕÊ –” ß‚ ∑§ÕŸ ‚ •Ê¬ ∑§„UÊ° Ã∑§ ‚„U◊Ã „Ò¥U ? 

Between which two European power blocs was First World War

fought ? How far do you agree with the statement that 'it was the first

modern industrial war' ? 1 + 2 = 3

16. ’ê’ß¸ ∑§Ë øÊÚ‹ ∑§Ê •¬Ÿ ‡ÊéŒÊ¥ ◊¥ fláÊ¸Ÿ ∑§ËÁ¡ÿ – ÿ„U √ÿflSÕÊ ∑§„UÊ° ‚ •¬ŸÊß¸ ªß¸ ? 

Describe the chawls of Bombay in your own words. From where was

this system adopted ? 2 + 1 = 3

17. ’Ê¡Ê⁄U ◊¥ üÊ◊ ∑§Ë ’„ÈUÃÊÿÃ ‚ ◊¡ŒÍ⁄U flª¸ ∑§ ¡ËflŸ ¬⁄U ¬«∏UŸ flÊ‹ ∑§Êß¸ ÃËŸ ¬˝÷Êfl ’ÃÊßÿ –

State any three impacts of the abundance of labour in the market on

the life of labour class.  3

18. ÷Ê⁄UÃ ◊¥ ‚¢ÁflœÊŸ ‚¢‡ÊÊœŸ ∑§⁄U∑§ ÷Ê⁄UÃËÿ ‹Ê∑§Ã¢òÊ ∑§ Sfl‡ÊÊ‚Ë ÁŸ∑§ÊÿÊ¥ ∑§Ê •Áœ∑§ ‡ÊÁQ§‡ÊÊ‹Ë
ÃÕÊ ¬˝÷ÊflË ’ŸÊŸ „UÃÈ ÄÿÊ ∑§Œ◊ ©UΔUÊÿ ª∞ ?

What steps were taken to make the third tier of Indian democratic

system more powerful & effective by amending Constitution of India ?

 1 + 1 + 1 = 3

19. ÄÿÊ ‹Ê∑§ÃãòÊ ©UûÊ⁄UŒÊÿË, Á¡ê◊flÊ⁄U •ÊÒ⁄U flÒœ ‡ÊÊ‚Ÿ „ÒU ? •¬Ÿ ŒÎÁc≈U∑§ÊáÊ ∑§ ¬ˇÊ ◊¥ Ã∑¸§
ŒËÁ¡∞ –

Is democracy accountable, responsive and legitimate government ?

Give reasons in favour of your view.  1 + 1 + 1 = 3

20. •Ê¬∑§ ÁfløÊ⁄U ◊¥ ‚Êfl¸¡ÁŸ∑§ ˇÊòÊ ÄÿÊ¥ •Êfl‡ÿ∑§ „ÒU ? ∑§Êß¸ ÃËŸ Á’ãŒÈ Á‹Áπ∞ –

In your view, why is public sector a must ? Write any three points.

1 + 1 + 1 = 3
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21. ª˝Ê◊ËáÊ ˇÊòÊÊ¥ ◊¥ ‚„U∑§Ê⁄UË ‚Á◊ÁÃÿÊ¥ ∑§Ë ªÁÃÁflÁœÿÊ° ’…∏UÊŸ „UÃÈ ∑§Êß¸ ÃËŸ ‚È¤ÊÊfl ŒËÁ¡∞ –

Give any three suggestions to increase activities of cooperatives in the

rural areas. 1 + 1 + 1 = 3

22. flÒ‡flË∑§⁄UáÊ ◊¥ ‚ÍøŸÊ ∞fl¢ ‚¢øÊ⁄U ¬˝ÊÒlÊÁª∑§Ë ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê Á∑§ã„UË¥ ÃËŸ •ÊœÊ⁄U ¬⁄U S¬c≈U
∑§ËÁ¡∞ –

Explain the role of information and communication technology in

globalisation on any three bases. 1 + 1 + 1 = 3

23. ÷Ê⁄UÃ ◊¥ ©U¬÷ÊÄÃÊ •ÊãŒÊ‹Ÿ ÄÿÊ¥ ¬˝Ê⁄Uê÷ „ÈU•Ê ? ß‚ •ÊãŒÊ‹Ÿ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –

Why did consumer movement begin in India ? Describe this

movement. 1 + 2 = 3

24. 18 flË¥ ‚ŒË ◊¥ ÁflÁ÷ÛÊ œÊÁ◊¸∑§ •ÊãŒÊ‹ŸÊ¥ mÊ⁄UÊ ¬Á‡ø◊Ë ‡ÊÁÄÃÿÊ¥ ∑§ Áπ‹Ê»§ ¡ÊªÎÁÃ »Ò§‹ÊŸ ∑§
ÄÿÊ ¬˝ÿÊ‚ Á∑§ÿ ?

•ÕflÊ

ª˝≈U Á’˝≈UŸ ∑§ “•ÊŒ‡Ê¸ ⁄UÊc≈˛U-⁄UÊÖÿ” ’ŸŸ ∑§ ∑§Ê⁄UáÊ S¬c≈U ∑§ËÁ¡∞ –

What efforts were made by religious movements of 18th Century for

the awareness against the western powers ? 4

OR

Explain the causes of becoming Great Britain as the 'Ideal Nation-

State.

25. 19 flË¥ ‚ŒË ∑§ •¢Ã ◊¥ ◊Èº˝áÊ ‚¢S∑Î§ÁÃ Ÿ ◊Á„U‹Ê•Ê¥ ∑§Ê Á∑§‚ ¬˝∑§Ê⁄U ¬˝÷ÊÁflÃ Á∑§ÿÊ ?

•ÕflÊ

ŒÁˇÊáÊ ÷Ê⁄UÃ ◊¥ ◊Á„U‹Ê•Ê¥ ∑§Ê ©U¬ãÿÊ‚ ‹πŸ ◊¥ ÄÿÊ ÿÊªŒÊŸ ÕÊ ?

How did the print culture influence the women in the end of the

19th Century ? 4

OR

What was the contribution of South Indian women in the novel

writing ?
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26. ÷Ê⁄UÃ ◊¥ ◊Á„U‹Ê•Ê¥ ∑§Ê ⁄UÊ¡ŸËÁÃ∑§ ¬˝ÁÃÁŸÁœàfl ŒŸ „UÃÈ ÄÿÊ ¬˝ÿÊ‚ Á∑§ÿ ªÿ ? ÁflfløŸÊ
∑§ËÁ¡∞ –

•ÕflÊ
÷Ê⁄UÃËÿ ⁄UÊ¡ŸËÁÃ ◊¥ “¡ÊÁÃ” ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê S¬c≈U ∑§ËÁ¡∞ –
What efforts have been made for giving political representation to
women in India ? Explain. 4

OR

Explain the role of 'Caste' in politics of India. 

27. ÷Ê⁄UÃ ◊¥ ⁄UÊ¡ŸËÁÃ∑§ Œ‹Ê¥ ∑§ ‚◊ˇÊ Á∑§ã„UË¥ øÊ⁄U øÈŸÊÒÁÃÿÊ¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞ –
•ÕflÊ

÷Ê⁄UÃËÿ ¡ŸÃÊ ¬Ê≈UË¸ ∞fl¢ ÷Ê⁄UÃËÿ ⁄UÊc≈˛UËÿ ∑§Ê°ª˝‚ ∑§Ë øÊ⁄U ¬˝◊Èπ ŸËÁÃÿÊ¥-∑§Êÿ¸∑˝§◊Ê¥ ∑§Ê Á‹Áπ∞ –
Explain any four challenges before political parties in India. 

1 + 1 + 1 + 1 = 4

OR

Write four policies-programmes of the Bhartiya Janata Party and
Indian National Congress. 2 + 2 = 4

28. •Ê¬∑§ ◊ÃÊŸÈ‚Ê⁄U ‹Ê∑§ÃãòÊ ∑§Ê ¬ÈŸ¬¸Á⁄U÷ÊÁ·Ã ∑§⁄UŸ ◊¥ Á∑§Ÿ ’ÊÃÊ¥ ∑§Ê ¡Ê«∏UÊ ¡Ê ‚∑§ÃÊ „ÒU ?
According to your view which points can be added in redefining the
democracy ? 1 + 1 + 1 + 1 = 4

29. •Ê¬∑§Ë ŒÎÁc≈U ◊¥ Á‡ÊˇÊÊ ∑§ SÃ⁄U ∑§ •ÊœÊ⁄U ¬⁄U ŒÊ ⁄UÊÖÿÊ¥ ∑§ ◊äÿ Áfl∑§Ê‚ ∑§Ë ÃÈ‹ŸÊ ∑§Ê üÊcΔU
U◊Ê¬Œá«U ÄÿÊ „ÒU ? ‚◊¤ÊÊß∞ –

•ÕflÊ

•Ê¬∑§Ë ŒÎÁc≈U ◊¥, Áfl∑§Ê‚ ∑§Ë œÊ⁄UáÊËÿÃÊ ∑§ ‚ãŒ÷¸ ◊¥ „U◊Ê⁄U ‹ˇÿ ÄÿÊ „UÊŸ øÊÁ„Uÿ ?
‚◊¤ÊÊß∞ –
In your point of view, which is much better measure to compare the
development between two states on the basis of educational level ?
Explain. 1 + 3 = 4

OR

In your point of view, what should be our goal on sustainability of
development ? Explain. 1 + 3 = 4
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30. ÁŸêŸ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬ÁáÊÿÊ° Á‹Áπ∞ —

(i) •ãÃ⁄U⁄UÊc≈˛UËÿ √ÿÊ¬Ê⁄U

(ii) ÷ÍÃÊ¬Ëÿ ™§¡Ê¸ –

Write short notes on the following :

(i) International trade

(ii) Geothermal energy. 2 + 2 = 4

31. (∑§) ÁŒ∞ ª∞ ÷Ê⁄UÃ ∑§ ⁄UπÊ ◊ÊŸÁøòÊ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§Ê •¢Á∑§Ã ∑§ËÁ¡∞ — 

(i) ’¢ªÊ‹

(ii) ¬¢¡Ê’ –

(π) ÁŒ∞ ª∞ ÷Ê⁄UÃ ∑§ ⁄UπÊ ◊ÊŸÁøòÊ ◊¥ ÁŸêŸ ∑§Ê •¢Á∑§Ã ∑§ËÁ¡∞ — 

(i) ¡flÊ„U⁄U‹Ê‹ Ÿ„UM§ ‚◊Èº˝Ë ¬ûÊŸ

(ii) ‚ÍÃËflSòÊ ©UlÊª-¬Ê⁄U’ãŒ⁄U

(iii) ™§ŸË flSòÊ ©UlÊª-’Ë∑§ÊŸ⁄U – 

(a) Mark the following in the given outline map of India : 1 + 1 = 2

(i) Bengal

(ii) Punjab.

(b) Mark the following in the given outline map of India :
1 + 1 + 1 = 3

(i) Jawaharlal Nehru Seaport

(ii) Cotton textile industry-Porbandar

(iii) Woolen textile industry-Bikaner.
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